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Operation on Functions

> DEFINITION 1 Operations on Functions

The sum, difference, product, and quotient of the functions f and g are the
functions defined by

Sumfunction (/' + g)(x) = f(x) + g(x) D: ANR
Difference function ( f — g)(x) = f(x) — g(x) © 1 ANY
Product function (f2)(x) = f(x)g(x) - A NY

Quotient function (l)(x) = @ gx) # 0 O: 1 x e ANR 59 ('{\to‘s
g g(x)
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4 Compostion

> DEFINITION 2 Composition

The composition of function f with function g is denoted by fo g and is
defined by

(fo8)x) = f(gXx))

The domain of fo g is the set of all real numbers x in the domain of g such
that g(x) is in the domain of f.

How to find the domain of the composite function

Step 1: Find the domain of inside function. If there are EalAlall 4l Jlas a5
restrictions on the domain, keep them. e pi asas dlua plssly

Step 2: Construct the composite function. find the domain dagllall Jranilf dalany a gd
. : F g oS dailiall Alall Jlawe s 939
. of this _new function. If there arc_e rc_estrlctlons on Tk ls gt Jpulatn g,
this domain, add them to the restrictions from step 1.  ..gast sguau aists 2 sg
\ 5 ghaddl o
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